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Sections No. of Questions to attempt Marks Total Marks 

A Minimum 3 question with internal choices and CILO 
(Course Intended Learning Outcome) covered  

Or 

Maximum 6 questions with internal choices and CILO 
covered (as an example) 

3*10 

 

Or 

6*5 

30 

B Compulsory Case Study with minimum of 2 questions 20 20 

  
50  

 
 
          
Section A 
 
A-1  (CILO- 1)  
 
A1A-  “India's real GDP declined 7.5% YoY in 2QFY21, better than the consensus but worse 
than our forecast. While the decline in personal consumption expenditure was in line with 
our forecast, investments recovered strongly but fiscal spending was extremely weak (the 
worst ever contraction on new series), said Motilal Oswal's economist Nikhil Gupta. Which 
are the factors which impact a country’s investment levels? Discuss. (5 Marks)  
 
A1B- “National debt is preferable to the Government borrowing from abroad’. Do you agree. 
Discuss. (5 Marks)  
 

OR 

 

A1C- With regards to the fiscal measures Government expenditure has a higher multiplier 

relative to direct taxes. Do you agree? Give reasons. (10 Marks)  

 

Roll No: ____________ 



 

 

 

 

 

 

 

 

A-2 (CILO-2)  

 

A2A- Describe the Monetary policy framework of the RBI and explain how monetary policy 

impacts business cycles. (10 Marks)  

 

Or 

 

A2B- How would each of these events affect the supply or demand for Indian rupee (10 

Marks)  

         a) Stronger U.S. economy  

         b) A decline in Indian interest rate  

         c) Higher inflation in India 

         d) Decline in the US interest rate  

         e) Political uncertainty in India.  

 

 

 

A-3 (CILO-3)  

 

A3A- “The economy is projected to decline in FY 2020 (April 2020–March 2021) 

as Covid-19 containment measures hamper domestic activity, consumption levels 
and external demand. Moreover, the ongoing spread of the virus and potential 
snap-back of lockdown measures, coupled with fiscal stimulus measures falling 
well short of the mark, continue to pose a downside risk to the outlook. Focus 
Economics panelists project GDP to fall 9.3% in FY 2020, which is down 0.2 per-
centage points from last month’s forecast, and increase 9.2% in FY 2021”. With 
relevance to the data given above, why is it stated that containment measures 
hamper domestic activity, consumption levels and external demand which in turn 
will impact GDP of the economy. Discuss in context of the income expenditure 
method of calculating Gross domestic product. (10 Marks)  

 



 

 

OR 
 

A3B- Discuss the inflationary gap with the help of income-expenditure and ag-

gregate demand and supply. In an inflationary situation should the Government 
adopt an expansionary or contractionary fiscal policy and why?  (10 Marks)  

 

 

 

Section B  

 

Will India return to 7+% growth rate in near future?  

 

 

It is well known that at present India is facing  severe production crunch which is induced by  Covid-

19 lockdown. But, slow down in the Indian economy started much before that, i.e.,  at the start of 

2018 financial year (FY) (Fig:1). From the figure it can be seen that Indian economy’s growth rate has 

decelerated from 8.2% in January-March 2018 quarter to 3.1% in January-March 2020. If you look at 

the figure, you will notice that the deceleration in the growth has been exponential, which suggest it is 

trend decline rather than cyclical.  

 

 

Fig: 1- GDP growth rate  

 

 

 

 

 

The 

government is aware of the decline in growth and has taken many steps to reboot the economy. But 

the monetary policy has taken most of the burden of boosting the growth. The RBI has already re-

duced its policy rate (repo rate) from the high of 6.5% in February 2019 to 4.00% in May 2020 

(Fig:2). It is the repo rate on which all the lending rates are based, so in theory if repo rate decreases, 

lending rates also decline and consequently demand in the economy increases, which boosts growth. 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

Fig: 2- The RBI repo rate  

 

 

 

 

But despite the RBI reducing the policy rate the growth sign as shown by high frequency indicator of 

growth, like industrial production (IIP) growth is not encouraging (Fig:3). IIP is a lead indicator of 

growth. It details out the growth of various sectors of the  economy such as mineral mining, electricity 

and manufacturing . Like GDP, IIP data  is also compiled and published by the Central Statistics Of-

fice (CSO). It can be seen from the figure (Fig:3), that in the FY 2019-20, there has been substantial 

contraction in the IIP numbers.  So we can say that despite reduction in repo rate industrial production 

has not grown much. This may be because Even after sharp reduction in the policy rate, the credit 

growth of  the Indian economy has deteriorated.  

 

Fig:3- Index of Industrial Production growth rate of India 

 

 

 

 

 

 



 

 

Credit ratio is very important to gauge the demand as well as supply of credit. If there is  demand of 

credit then the ratio goes up. Similarly, if banks feel that the risk factor in the economy is very high, 

they will be reluctant to lend and consequently, the ratio declines.  From Fig:4 it can be seen that there 

is trend decline in the ratio from 2014 onwards. It saw a rise in the late 2018 and early 2019 but again 

the growth tapered off in the mid-2019. Since then there is sharp decline in the ratio.  

 

 

Fig: 4- Credit to deposit ratio of India  

 

 

So, with the benefit of hindsight it can be said that the economy was facing trend decline in the eco-

nomic growth even before Covid19. Monetary policy tried to boost the growth by decreasing interest 

rates but credit off-take has not increased much. It shows that much of India’s growth problem is de-

mand induced. This hypothesis is again reinforced by looking at the data of industrial capacity utiliza-

tion in India. Capacity utilization ratio is calculated by used capacity divided by total capacity of the 

industry. It shows how much demand is in the economy. If the ratio is high it means there is high de-

mand in the economy and the industry is utilizing much of its installed capacity. But, if the ratio is 

low it indicates lack of demand in the economy.  Fig: 5 shows India’s capacity utilization since 2008 

till Dec 2019. If you look at the data you will notice that during 2009-10 the capacity utilization was 

above 80 ( 80% capacity utilization is a healthy number for an economy). But after that the ratio has 

seen trend decline.  

 

 

 

 

 

 

 

 

 

 

Fig: 5- Capacity Utilization of India  

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Decline in capacity utilization ratio again indicates demand slowdown in the economy. From the 

Keynesian theory we know that the demand side of the economy mainly consists of; household con-

sumption expenditure, gov. expenditure, investment and net of export. The  Indian economy is pri-

marily private consumption driven and it accounts for around 57-58% of total GDP. Fig:6 below is 

showing the pattern of household consumption expenditure over the past 30 years. We can see that 

since 2012 the ratio has remained constant. But household debt has increased at exponential rate from 

10% to 12.2% of GDP (Fig: 7). This shows that though household personal consumption expenditure 

to GDP ratio is constant over the years, but household debt has increased. Which indicates that house-

hold capacity to boost economic growth has diminished over the years. 

 

 

Fig: 6- India’s household consumption expenditure to GDP ratio 

 



 

 

 

 

 

 

Fig: 7- India’s household debt to GDP ratio  

 

 

 

 

The general government to GDP ratio shown in Fig: 8 indicates that since 2017 government expendi-

ture has increased. Government is spending more to boost the GDP growth.  

 

 

 

 

 

Fig: 8- India’s General Government to GDP ratio   

If 

we 

look at the investment in the Indian economy, we will notice that it has declined from around 40% in 

2012 to around 32% in 2018. The Figure 9 indicates a trend decline in the capital formation. Which 

shows that capacity formation in the economy has come down and it again reinforces the fact that 

demand side of the economy is facing a crisis. 



 

 

 

 

 

 

 

Fig: 9- India’s Gross Capital Formation to GDP  

 

This trend decline in the capital formation must be seen along with the low capacity utilization as 

shown in Fig: 5. Since there is no demand in the economy ( low capacity utilization) there is low cred-

it demand ( deceasing credit to deposit ratio; Fig: 4) which has led to low gross capital formation in 

the economy (Fig: 9).  In light of the above analysis of the Indian economy. Please write short essays 

on the following topics.  

 

B1) Why the monetary policy has not been able to boost India’s economic growth? (10 Marks).  

 

B2)  Is the economy facing an inflationary or recessionary output gap? In view of the above, suggest 

policy changes to bring back the economy to a high growth rate post-Covid19? (10 Marks).  


